SA1H (LX)

J-step BY 5K (FEG) J-step BT 5K (RG)

FuoAD *HEARF FyyAT AT
@ 9:50 | BREIHEERTS s BEA%T5 ) 9:50 | ;&Kk#>T0B |1 |vs| 1 |ILFETRE—X
@ 1030 | BEEMASC |2|vs| 2| ®HE500cc || @  10:40 BEFC 2 |vs| 1| AL =7FC
® 11:20 [EWREHST|1|vs| 2 [BBE7X—L|| ® 11:20 BIESFLT5 vs ACK (75
@ 1210 | BEEMASC |ofvs| 2| HEL=7 || @ 1210 PET 4|vs| 0| EHL=FFC
® 13:.00 BRIRSFL75 vs #EART5 ®  13:00 REBEFC [0 |vs| O [ILBITRE—X
® 1340 = 2 lvs| 0 |EMRMEEHST|| ®  13:50 ACH 75 vs  ERREhEERTS
@ 1430 BES=F7 |0|vs|3| &HE500cc || @ 14:30 | ;FKHSTOB |1 |vs| 0| RABBEFC
15:20 = B 0|vs| 2 |HAEBE7X—IL 15:20 PET 2 vs| 0 BEXFC

3A2H8(A)
J-step TY UK (FEG) J-step RYTVUK(EG)

FyuAT *EAEF FuuAT AT
@ 900 | BEHERASC |y |vs|q| EWEESST|| @ 900 | REEBFC |3 |vs| 2| BEL=TFC
@ 9:50 BEVZTF |1]vs| 0 = B @ 9:50 |ILEITRE—X| 1 |vs| O BEIRFC
@ 1040 | &WES500cc |0 |vs| 4 |HAEE7X—L|| @  10:40 | i&E/KIST OB |0 |vs| 1 PET
@ 11:30 ACH[£75 vs BREIRT5 @  11:30 | B#FEPEREIS s BESFL75
® 12:20 | BEERASC |0|vs| 2| FRHBEFC || @ 1220 [EMREBEHST|1|vs| 0| BRI =FFC
® 1310 BEVZF |0|vs| 5| lUE<TRE—X|| ® 1310 = B 0 [vs| O FERFC
@ 1400 |[BEBEF7RX—I|2|vs|0 PET @ 1400 | &®HES500cc | O |vs| 2 | sEKHIST0B
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